‘= X /I=1a == .
Rt/ [EEE+F 1% 4% o [
PTFE/PO ] [
EHET & Size (mm) EHETR I8 Size (mm)
Part Number M DK K Part Number M DK K

29000P0030050004  M3x4 5.45 2.33 29000P0080125085 M8x85 15.79 5.85
29000P0030050006  M3x6 545 2.33 29000P0080125090 M8x90 15.79 5.85
29000P0030050008  M3x8 5.45 2.33 29000P0100150012 M10x12 19.74 7.32
29000P0030050010  M3x10 5.45 233 29000P0100150016 M10x16 19.74 7.32
29000P0030050012  M3x12 5.45 2.33 29000P0100150020 M10x20 19.74 7.32
29000P0030050016  M3x16 5.45 233 29000P0100150025 M10x25 19.74 7.32
29000P0030050020  M3x20 5.45 2.33 29000P0100150030 M10x30 19.74 7.32
29000P0030050025  M3x25 5.45 233 29000P0100150035 M10x35 19.74 7.32
29000P0030050030  M3x30 5.45 2.33 29000P0100150040 M10x40 19.74 7.32
29000P0040070012  M4x12 7.82 3.01 29000P0100150045 M10x45 19.74 7.32
29000P0040070016  M4x16 7.82 3.01 29000P0100150050 M10x50 19.74 7.32
29000P0040070020  M4x20 7.82 3.01 29000P0100150055 M10x55 19.74 7.32
29000P0040070025  M4x25 7.82 3.01 29000P0100150060 M10x60 19.74 7.32
29000P0040070030  M4x30 7.82 3.01 29000P0100150065 M10x65 19.74 7.32
29000P0050080012  M5x12 9.32 3.61 29000P0100150070 M10x70 19.74 7.32
29000P0050080016  M5x16 9.32 3.61 29000P0100150075 M10x75 19.74 7.32
29000P0050080020  M5x20 9.32 3.61 29000P0100150080 M10x80 19.74 7.32
29000P0050080025  M5x25 9.32 3.61 29000P0100150085 M10x85 19.74 7.32
29000P0050080030  M5x30 9.32 3.61 29000P0100150090 M10x90 19.74 7.32
29000P0050080035  M5x35 9.32 3.61 29000P0100150095 M10x95 19.74 7.32
29000P0050080040  M5x40 9.32 3.61 29000P0100150100 M10x100 19.74 7.32
29000P0060100012  M6x12 11.79 4.45 29000P0120175012 M12x12 19.74 7.32
29000P0060100016  M6x16  11.79 4.45 29000P0120175016 M12x16 19.74 7.32
29000P0060100020  M6x20  11.79 4.45 29000P0120175020 M12x20 19.74 7.32
29000P0060100025  M6x25 11.79 4.45 29000P0120175025 M12x25 19.74 7.32
29000P0060100030  M6x30  11.79 4.45 29000P0120175030 M12x30 19.74 7.32
29000P0060100035  M6x35 11.79 4.45 29000P0120175035 M12x35 19.74 7.32
29000P0060100040  M6x40  11.79 4.45 29000P0120175040 M12x40 19.74 7.32
29000P0060100045  M6x45 11.79 4.45 29000P0120175045 M12x45 19.74 7.32
29000P0060100050  M6x50  11.79 4.45 29000P0120175050 M12x50 19.74 7.32
29000P0080125012  M8x12 15.79 5.85 29000P0120175055 M12x55 19.74 7.32
29000P0080125016  M8x16  15.79 5.85 29000P0120175060 M12x60 19.74 7.32
29000P0080125020  M8x20  15.79 5.85 29000P0120175065 M12x65 19.74 7.32
29000P0080125025  M8x25 15.79 5.85 29000P0120175070 M12x70 19.74 7.32
29000P0080125030  M8x30  15.79 5.85 29000P0120175075 M12x75 19.74 7.32
29000P0080125035  M8x35  15.79 5.85 29000P0120175080 M12x80 19.74 7.32
29000P0080125040  M8x40  15.79 5.85 29000P0120175085 M12x85 19.74 7.32
29000P0080125045  M8x45  15.79 5.85 29000P0120175090 M12x90 19.74 7.32
29000P0080125050  M8x50  15.79 5.85 29000P0120175095 M12x95 19.74 7.32
29000P0080125055  M8x55  15.79 5.85 29000P0120175100 M12x100 19.74 7.32
29000P0080125060  M8x60  15.79 5.85 29000P0120175105 M12x105 19.74 7.32
29000P0080125070  M8x70  15.79 5.85 29000P0120175110 M12x110 19.74 7.32
29000P0080125075  M8x75 15.79 5.85 29000P0120175120 M12x120 19.74 7.32
29000P0080125080  M8x80  15.79 5.85 29000P0120175150 M12x150 19.74 7.32

FRAEFRA BENATE



	Sheet2

